Mo2ool & Ab 22 M A
20084 & 2Ol AH s
D200 MEla
2210 BATNALY
8 211 THARICHZQ (B9 @8)
T.op-8-2 04 & o & & 0f b o HImE=Eh
z 19,042,584 14,123,592 4,918,992
200 M2l 42l 19,042,584 14,123,592 4,918,992
210 ZATH 2+ 6,458,584 5,805,002 653,492
211 A4 98,000 90,000 8,000
211-01 RRWLAHE 74,000 70,000 4,000
EEEEN 74,000 70,000 4,000
<HRD > 74,000 70,000 4,000
oY== 30,000,0008 * 50/100 15,000
OJIEtSH 118,000,008 * 50/100 59,000
21102 BRMLAHE 24,000 20,000 4,000
[ 2ersd ] 24,000 20,000 4,000
<HRDB > 24,000 20,000 4,000
oY== 1,000,0002 1,000
OJIEtS= 21,000,0002 21,000
Os8 ZYEZL ASE 2,000, 0002 2,000
212 ASESY 396,411 385,498 10,913
212-01 TRAIEE 60,000 50,000 10,000
EEER 60,000 50,000 10,000
<HRD > 60,000 50,000 10,000
OYWT2HER 60,000
—HE, MR 2,000, 0002 2,000
—SMBE, SMUF, BEH 26,000,002 26,000
—y=z 32,000,0002 32,000
212-02 SHEAIBE 5,000 25,000 20,000
EEER 5,000 25,000 20,000
<HRD > 5,000 25,000 20,000
O4ActEEER 2,000,0002! 2,000
OZR+0EE 3,000, 0002 3,000
212-05 AIBAIBE 50,000 50,000 0
EEER 50,000 50,000 0
<HRD > 50,000 50,000 0
ozasg 7,800, 0002 7,800
Ogxg 11,000,00024 11,000
Ogel 200, 0002 200
ool st 11,000,00024 11,000
Ogarel 20,000, 0002 20,000
212-07 YHESY 69,480 8,280 61,200
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I 1200 MI2Iae
2210 ZAEANRASY
g 213 22Y (S @)
djo@ioElos Ofl k4 & &0 oK Hns
[ 23 ] 84,000 30,000 54,000
<R > 84,000 30,000 54,000
OUHEMEHIIS 42 68,000,0002 68,000
OCHH AR RFR! Z A HI 6,000,000 6,000
OG4CRER 2 4,000,0002 4,000
SIS HH SIIH AHAI 2 6,000,000 6,000
214 A 824,092 842,153 18,061
214-01 AHLIZf A k-0 2,852 15,000 A12,148
[ LersH ] 2,852 15,000 A12,148
<R > 2,852 15,000 A12,148
OZ Xt BHOHSE 70024 * 2,000kg 1,400
OZgt B¢ 2,000 * 3002 600
OOts EH2¢ 1,2002 * 540kg 648
Ot EiHE¢ 2002 = 1,020kg 204
214-08 22 AlE 42 821,240 827,153 A5,913
[ 2Letsl A ] 821,240 827,153 A5,913
<R > 821,240 827,153 25,913
OXIOtEM <RI ™A% 15,0002 * 500% 7,500
O2AA NEY ¢ 20,981,000 20,981
OBAZ g3 +¢ 8,512,000 8,512
Odoly & stay AL A XY 23,0002 * 3,000% 69,000
OHgEs 4= 47,400
—REIZA 4,000 * 500 2,000
—NEEREEI 7,0002 * 200 1,400
—QIZE2AUT} 8,0002 * 5,000 40,000
—BY 2t 4,000 = 1,000 4,000
O2AA T4 43,217
—UutE I N4 3,350% * 23 x 250 19,262
— X N2 3,850% * 6% * 250 5,775
— BB N4 4,0402 * 188 = 250 18,180
OEAX A 24 624,630
—UBtE T N4 5,760 * 392% 250 564,480
— X N2 4,5002 * 408 » 250 45,000
— BB N4 4,040 = 158 * 250 15,150
215 Axue34¢ 2,939,960 2,441,320 498,640
215-01 Axuea4 2,939,960 2,441,320 498,640
[ 2et3 A ] 2,939,960 2,441,320 498,640
< LD > 2,939,960 2,441,320 498,640
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L 215 A4anE 340 el A E)
T 0] &k o8 & A & 0f b o bl =2t
OF=M 2023 5,000,000,000& * 3/100 150,000
OSEAMN =183 4,000,000,000& * 3/100 120,000
OGN 2423 52,000,0002 * 3/100 1,560
OSSANEAN A1 TR= 400,000,000& * 3/100 12,000
OXEMLH B2DL2 90,000,002 * 3/100 2,700
OWEE TAH 02 F3 350,000,000& * 3/100 10,500
OslHEER 4ene2 10,000,0002 * 50/100 5,000
OBMMF 240 4023
1,988& * 2,600,000m * 50/100 2,584,400
OF2EEZ U223 26,000,000& = 30/100 7,800
OF= 2P FuE = =S EaIME = 500,000,000& * 5/100 25,000
sAEdREa LR s 400,000,000& * 5/100 20,000
OthiEfg3 =173 10,000,000& = 10/100 1,000
216 Ol Xt==¢ 1,601,000 1,501,000 100,000
216-01 S30W 30l kt= 1,601,000 1,500,000 101,000
[ LBH3IA ] 1,601,000 1,500,000 101,000
<M > 1,601,000 1,500,000 101,000
O&JIIu=,20 S OlXt==g 1,600, 000,000& 1,600,000
OMZMEE2 2 01T+ 1,000,0002 1,000
220 SAEAN A+ 12,584,000 8,318,500 4,265,500
221 THAHOH 2 ==& 108,000 27,500 80,500
221-01 2T &H0H S 88,000 27,500 60,500
[ 2et3H ] 88,000 27,500 60,500
< M > 88,000 27,500 60,500
O=STeH 02t 400,000,000& * 22/100 88,000
221-02 Al - &S HE+L S 20,000 0 20,000
[ 2et3 3 ] 20,000 0 20,000
< THS > 20,000 0 20,000
O ESTHEE D 10,000,000& 10,000
OA3s S3MY X OH=2t==¢ 5,000,000 5,000
OH&ES X O 20,000,000& * 25/100 5,000
222 =HMALNH= 10,000,000 8,000,000 2,000,000
222-01 &=NIAHL A 10,000,000 8,000,000 2,000,000
[ LBt3IA ] 10,000,000 8,000,000 2,000,000
<RI > 10,000,000 8,000,000 2,000,000
O=NAHLNHS 10,000, 000,000& 10,000,000
224 HYU2 2,180,000 0 2,180,000
224-03 JIEISIAHE A Z 2,180,000 0 2,180,000




& 0200 M2
2220 SAEMEI A
g 224 M3 (S @)
g-2-8-5 Ofl &t oH S E 0l &Y HRE2
[ Les ] 2,180,000 0 2,180,000
< WS> 2,180,000 0 2,180,000
OUX=s=EX A=z JIEFEESAHNM 8 2,180,000,000& 2,180,000
228 &=+Y 200,500 191,000 9,500
228-01 =E S0 2,000 2,000 0
[ LBtsH ] 2,000 2,000 0
< M > 2,000 2,000 0
O=283 2 2,000,000& 2,000
228-02 Ha= 4,000 4,000 0
[ Zer3H ] 4,000 4,000 0
< MR > 4,000 4,000 0
O=.37 M4 BHaz 4,000,000& 4,000
228-03 ?It= 3,000 3,000 0
[ Les ] 3,000 3,000 0
< THSR > 3,000 3,000 0
OfAs= 3,000,000& 3,000
228-04 MEHEHHIZ L 135,500 120,000 15,500
[ Lersl ] 135,500 120,000 15,500
< HSD > 135,500 120,000 15,500
OSAAX S0 26 RS 3,000,000 3,000
ONB LSS0 2eHH ABHUEN= 3,000,000& 3,000
OFAISSHSRIB DEHZ 5,000,000& 5,000
OXNsxsEee LEhHE 20,000,000& 20,000
OALIIAH2cIEe WHEHZ 1,000,000& 1,000
O=sgA== L= 2,000,000& 2,000
OAddagI|=2H2E WS 1,000, 000& 1,000
OELSZFEMY WE2 500,000 500
OII#HZEHY NHEH2 2,000,000& 2,000
OASHSHMEY WUEH= 1,000,000 1,000
O=ZZE8Y NWEH2 2,000,000& 2,000
Os=2aRLH-XMHCE HHS 10,000, 000& 10,000
O EZAL HEH= 3,000,000& 3,000
OHJI=2cld Mz U= 2,000,000& 2,000
OMYIISESI LEHZ 7,000,000& 7,000
OXsxt2eld Utz HdE3 3,000,000& 3,000
OWATSIA2-AEY B2 U= 3,000,000& 3,000
OstsAhsX2AtE Y S UHE S 3,000,000& 3,000
OFE XN E 3,000,000& 3,000




& 200 M2+
2t 220 A E A
g 228 Y (&2 d @
F.-n-8-2 &k o = o 0f A o HDE2
OAR 2 AQUMASAIYY IH2UES 5,000,000 5,000
OFI|SAS Y DEH2 1,000,000 1,000
OZHHAE =Y DEHZ 15,000,000 15,000
OXSIHAAKIA DEHR 15,000,000 15,000
OOIESXH A2l DWENS 1,000,000 1,000
OFNS=2Y WEZ 10,000,000 10,000
OsXY B2 5,000,0002 5,000
Ot eet WENR 1,000,000 1,000
OJIEXGEN LY DEN2 1,000,000 1,000
OA%ALY DEHR 1,000,000 1,000
OSA2IE2Held B2 1,000,000 1,000
Osoaely WEZ 1,000,000 1,000
oo 2g B2 3,000,000 3,000
OQIgl|=2e BEN2 1,000,000 1,000
228-05 MgdeEs 2,000 2,000 0
[ 23 ] 2,000 2,000 0
<R > 2,000 2,000 0
OXYA HMExe 2,000,000 2,000
228-09 JIEF& %2 54,000 60,000 A6,000
[ gerg X ] 54,000 60,000 26,000
<MW > 54,000 60,000 26,000
OslladE sIHASLEE B 5,000,000 5,000
OJIEI & #=¢ 49,000,000 49,000
229 Nt E==¢ 95,500 100,000 A4,500
229-01 XltEH =42 95,500 100,000 A4,500
[ 23 H ] 95,500 100,000 24,500
<D > 95,500 100,000 A4,500
OAZE WET BH2 ¢ 75,000,000 75,000
O2AE BHEHE ARE ¢ 500,000 500
OJIE EE £ 20,000,000 20,000




